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WEST BENGAL STATE UNIVERSITY
B.A. General Part-II Examination, 2020

PHILOSOPHY

PAPER: PHIG-III

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

Answer any three questions taking at least one from Group A and B
2 marks allotted for overall impression
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GROUP-A / es-=

1. Define Vyapti according to Nyaya philosophy. How do the Naiyayikas establish 6+10
Vyapti?
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2. Explain the definition of anumiti. What is the difference between anumana and 8+2+6
anumiti? In this context, explain the nature of Paramarsajiiana.
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3. Explain with suitable examples Kevalanvayi, Kevala-vyatireki and Anvaya- 16
vyatireki inferences.
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4. Critically explain Jaina ‘Saptabhangi naya’. 16
e e W3 ARG 1T FCE |

GROUP-B / fTeia-2

5. Test the validity of the following syllogism or syllogistic forms by means of 4x4 =16
Venn diagram: (any four)
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(a) AAI-4
(b) AIIL-3
(c) EAO-1
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(d) No patriot is happy person and some happy persons are virtuous. Therefore, some

virtuous are not patriots.
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(e) Some women are musicians, but all political dignitaries are not women.
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Therefore, all political dignitaries are not musicians.
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Some parrots are not pests. All parrots are pets. Therefore, no pets are pests.
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Give the definition of conversion. Mention the rules of conversion. Discuss with
examples different types of conversion. Is conversion of ‘O’ proposition
possible? — Discuss.
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Use truth-table to determine whether the following statement forms are
tautologous, self-contradictory or contingent:

fefeie apaerefs FossTe), Tt v, 9t wieifes o womaa AR e s
() (p-q)=>(rvp)

(b) polp=>(3-~9)]

() (p2q)(rv~r)

(d) p=~(~pVv~9)

Test the validity of the following with the help of truth-table (any four):
TR AR ([! /R FC1e (@ el 5171%)

(@) po(qvr)
~q
S PD~p
(b) pogq
. pD~q
(c) PoQO
ODR
S RvQ
(d) (GVvH)>I
ID5(G-H)
~(GVH)D(G-H)

24+445+5
4x4 =16
4x4 =16
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(e) If weather is good and it does not rain, then either we will go to the play ground
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or we will go to watch a movie. It is not the case that it rains; so we will go to the
play ground.
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If west Bengal suffers a severe drought then if Punjab has its normal rainfall then
Hariyana’s water supply will be greatly reduced. Punjab does have its normal
rainfall. So if Hariyana’s water supply is greatly reduced then West Bengal
suffers a severe drought.
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Explain and examine Mill’s Joint Method of Agreement and Difference.
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N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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